Efficiency vs Dxy(PV)
§0.01:

TP dxy(PV) (cm

—=— DQM_V0001_R000000001__Global__CMSSW_cki1omu__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkfit10mu__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkfit10mu_LowptQ_RECO

[ Efficienc]| —— DQM_v0001_R000000001__Global__CMSSW_mkfit10mu_LowptQnoBKW_RECO

< 0.01¢

-1-0.8-0.6-0.4-0.2 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

0.001----rmmrmmrmnes
° OE i i * i i
8
X 15f--e-mmenn-- e B R R e

-30 -20 -10 0 1 2l 30
TP dz(PV) (cm)

< 0.01p

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


